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QUESTION 1

Which component acts as the certified WS-Trust client that can be used to communicate with Security Token Service?
A. Token Consumer

B. Token Administrator

C. OWSM Agent

D. OPSS Security Keystore

E. User Name Token (UTN)

F. WS Policy

Correct Answer: C

QUESTION 2

In a high availability deployment for Oracle Access Manager, which configuration will make sure that the Request to
Login page goes to the load balancer?

A. changing Server Host, Port, and Protocol from the WebLogic administration console
B. changing Server Host, Port, and Protocol in a WebGate or an agent configuration
C. changing Server Host, Port, and Protocol in a Credentials Collector configuration

D. changing Server Host, Port, and Protocol in Access Manager settings under System configuration from the Oracle
Access Management console

Correct Answer: D

QUESTION 3

Which statement is true about Service Providers and Service Profiles in Oracle Access Management Mobile and
Social?

A. A service Provider instance may or may not have a corresponding Service Profile instance.

B. A Service Profile instance may or may not have a corresponding Service Provider instance.
C. Each Service Provider instance requires at least onecorresponding Service Profile instance.
D. One Service Profile cannot be assigned to multiple Service Domains.

Correct Answer: C
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QUESTION 4

Identify three required steps for configuring OAM-OAAM basic integration.

A. Set theOAAMEnabledproperty totrueinoam-config.xml.

B. Target the OAAM JDBC data source to the OAM Managed Server.

C. Protected a resource in an authentication policy using the OAAMBasic authentication scheme.

D. Install SOA Suite and configure the UnifiedMessaging Service (UMS) delivery channel for One Time Pin (OTP).
E. Install and configure Oracle Entitlements Server (OES).

Correct Answer: ABC

QUESTION 5

Which are the four valid token types that Oracle Mobile and Social can return to a mobile client on authentication?
A. SAML Token

B. User Token

C. SecurlD Token

D. Access Token

E. Client Registration Handle

F. Client Token

G. LTPA Token

Correct Answer: BCEF
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